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PART 2: OTHER AORISTS
S.i::




THE AORIST

Last time we introduced the aorist tense and
covered a few formations that have an s as the
marker of the aorist (hence s-aorists).

Today we’re going to look at the remaining
aorist forms.
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THE AORIST
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THE ROOT AORIST 2.4.77

The root aorist is technically taught as a form of
the s-aorist wherein the stem-forming suffix is
entirely elided. It is only used for certain roots:

* \/-E‘T give [Note that all except bhd end in a.]

# “place”

# &I “stand”

# 9T “drink”

o VAT “go”

X \f‘i “become” !’E@!’



THE ROOT AORIST 2.4.77

This form is only used in the parasmaipadam. The
atmanépadam forms are generally provided by the
s-aorist.
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THE ROOT AORIST

REEEE ESREL
HeTTgE: abbut abbitam
HEHTR: abbith abbutam
swges: | gbbiuvam abhuva

Sg=TH

dbbuvan
abbhuta
abbhuma
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THE ROOT AORIST

REE R ESREL
e ddat adatam
A adap adatam
STHgES: adam adava

STgT=TH

adub
ddata
adama
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THE THEMATIC AORIST

This is formed by the addition of the thematic
vowel to the weakest (zero grade) form of the
verbal root.* Because of the thematic vowel, the
endings are the same as those of the imperfect (or
the sa-aorist).

* All roots ending in r (sr, r) and drs take gunah
throughout the paradigm.
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THE THEMATIC AORIST 3-1.55-56

J \/_H “go!!

K \["QIR:I “order” [parasmaipadam and atmanépadam]

d \/-a_z ugou

# \Viog  “paint’

K \/ﬁﬁ “sprinkle” [parasmaipadam and optionally atmanépadam]
J \/%r “Ca””

o \[TS[ “nourish”

> \[ﬂq “dry out” [only parasmaipadam]

K

VEd  “shine” aksEN
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THE THEMATIC AORIST

Although there is no distinctive marker of the aorist
here, these forms are nevertheless different from
the corresponding imperfect forms, because those
that would have a similar form (i.e., the sixth-class
verbs /ip and sic) do not have the nasal that they
have in the present stem (/imp- and sinc-).
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THE THEMATIC AORIST
qHISH

~

JIHYEY: dasicat asicatam dsican \/ﬁq
ALY dsicah dasicatam dsicata
STAYLY: dsicam dasicava dasicama
JMHAUSH
JAHYEY: dasicata asicetam dsicanta
HEHGES:  dsicathah asicetham dsicadbvam

STHYR: dasice dsicavabi dsicamabi ”g@i”
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THE THEMATIC AORIST
qHISH

~

JIHYEY: dsarat dsaratam dasaran \/—H
ALY dasarah dsaratam dsarata
STAYLY: asaram dsarava asarama
JMHAUSH
JAHYEY: dasarata asaretam dsaranta
HEHYES:  dsarathah dsaretham asaradbhvam

STTHYR: dsare dsaravabi dsaramabi ”g@i”
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THE THEMATIC AORIST

A number of verbs take somewhat irregular forms
of the thematic aorist. A few are clearly formed by
reduplication:

& [ “speak” — > 3= etc. [a-va-vc-a-i]
# I g —— H{Udd etc. [a-pa-pt-a-i]
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THE THEMATIC AORIST

A few more irregular forms:
X \[31'{:[ “throw” —» SIEIq etc.
& \FMg “punish” —» 3RV etc.
PARVE R “perish” —» 33 etc.
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THE REDUPLICATED AORIST 3-1.48

The reduplicated aorist is also thematic, but as the
name suggests, it is formed with reduplication.

It serves as the aorist of all verbs that are formed
with the suffix NiC, i.e., all tenth-class verbs and
causatives. Additionally it is used with V$ri “rely on,”
Vdru “run,” Vsru “flow” and Vkam “love.”
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THE REDUPLICATED AORIST

The reduplicated syllable is formed as follows:

K

f
f

1
1

ne consonant of the reduplication is the same as in
nird class presents;

ne quality of the vowel is also usually the same as in

nird class presents (e.g., r becomes), but

additionally a and a become 1.

the length of the vowel, however, is adjusted to make

the stem conform to a prosodic template.
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THE REDUPLICATED AORIST
The preferred template is:
—v heavy-light

If the root has a short vowel followed by no more
than one consonant, it will be light, and the
reduplicant must be heavy.
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THE REDUPLICATED AORIST

The preferred template is:
—v heavy-light

If the root begins with a double consonant, no
change is needed, because the reduplicant will be
heavy by position:

» \fg “run” —» Hggdd etc.
# VT “throw®  » SIFITRTI etc 2k
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THE REDUPLICATED AORIST

The preferred template is:
—v heavy-light

If it doesn’t, the vowel of the reduplicating syllable
IS lengthened:

# \HT “rejoice” » STHHIA efc.

K \fEF[ “be born” —» 31¢|%|-1¢Letc.
X \/T\Hi ‘break”  » STHEIMSd efc. llﬂ@i]l
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THE REDUPLICATED AORIST

If the root is heavy (i.e., it contains a long vowel
and/or more than one final consonant), a different
prosodic template must be used:

—— light-heavy

# \R& “protect’  » IT& etc.
» \/ﬁ[&{ “beg” B 3]-%”?;[&]?[ etc.
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THE REDUPLICATED AORIST

Roots that have a final r take gunah:

# V&I gor » THH etc

Roots that have a medial r can take gunah, and hence
they can use either of the two prosodic patterns:

# \[TL “grow’ > 3EgYq / AHaEd etc.
# \gd “wurn > IEEAd / SAEEdd ete
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THE REDUPLICATED AORIST

WHITH

L
TSI [ECREL
asisriyat asisriyatam
asisriyab asisriyatam

asisriyam asisriyava
JMHAUSH
TR ESEEL
asisriyata asisriyetam
asisriyathabh  dsisriyetham
asisriye asisriyavabi

g
T N

asisriyan
asisriyata

/ /e / e

asisriyama

g,
asisriyanta
asisriyadbvam

asisriyamabi
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THE PASSIVE AORIST

Finally we come to the passive aorist, which is
used when the verb refers to:

#  the patient (karma) of the verbal action,
In the case of transitive verbs (karmani
prayogah); or

o the verbal action itself, in the case of
intransitive verbs (bhave prayogah).
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THE PASSIVE AORIST

This form can be made for any verb. It is formed

with the suffix that Panini calls CiN, which induces

N-viddhih:

» viddhih in the case of final vowels and (most)
penultimate a-vowels;

« gunah otherwise.

The suffix is -i, which is used exclusively in the
third person singular. IIaksEN
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THE PASSIVE AORIST

X \/-_@'_ “do” >
X \f?ﬁl “speak” —
X \[ﬁﬁl “oe aware”  »

X \fTQ'[ “see” —

T g N

S el

ac
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THE PASSIVE AORIST

Some roots with penultimate a do not take viddhih:

# S “beborn”  » SIS

& \EFI il B | £
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THE PASSIVE AORIST

Roots ending in 4 take y before the suffix.

& Ve “express” ——» 3T

[anN

& T “give” —»  SI<}MY

(N

PERVE] “know” SN
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